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[Maximum mark: 5] FE
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Let f(x) = a(x — h)? + k. The vertex of the graph of f is at (3,4) and the graph passes

through (1,-4).
(a) Write down the value of h and k.

(b)  Find the value of a.
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Chapter 15: Probability Distributions
15.1 Random Variables

Random Variable: a quantity whose value depends on chance

e(xy A (Ldpg+4[\th(5)

Discrete Random Variable: a random variable that has a
finite number of possible values (ie. # of kids, sides to a die)

Continuous Random Variable: can take on any value in an interval
(ie. miles driven, time to complete a task.)
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Calculator instruction link:

http://users.rowan.edu/~schultzl/Tl/binomial_Statl. pdf



